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Windows — 1s (nucleation)

mueS

PearliteDiss_Portion10_Ini_Eq_10Cs_Normal_CemOrie_corr13_4_mueS.mcr, X: 110600, Y: 1 of 1, Z: 1o 600, Time: 1s
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PearliteDiss_Portion10_Ini_Eq_10Cs_Normal_CemOrie_corr13_4_orie.mcr, X: 110600, Y- 1 of 1, Z: 110 600, Time: 1s
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Linux — 1s (nucleation)

mueS

cb-10Cs-07 mueS, X' 110 600,Y 10f 1, Z: 1to 600, Time: 1s
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cb-10Cs-07 orie, X 110600, Y- 1 of 1, Z- 1 to 600, Time: 1s
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Windows — 1.5s (nuclei start growing)

mueS orie
[1] PearliteDiss Portion10 _Ini Eq 10Cs Normal CemOrie corr13 4 mueS.mcr, Time: 1.5s (62/142) 0.006x1e-5x0.006 mm, 600x1x60C [2] PearliteDiss Portion10_Ini Eq 10Cs MNormal CemOrie corr13 4 orie.mcr, Time: 1.5s (62/142) 0.006x1e-5x0.006 mm, 600x1x600 ¢
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PearliteDiss_Portion10_Ini_Eqg_10Cs_Normal_CemQrie_corr13_4_mueS.mcr, X: 110 600,Y: 1 0of 1, Z: 110 600, Time: 1.55 ﬁ PearliteDiss_Portion10_Ini_Eq_10Cs_Normal_CemOrie_corr13_4_orie.mcr, X: 110 600, Y: 1 of 1, Z: 1 to 600, Time: 1.55



Linux — 1.5s (some nuclei don’t grow)

2e-06 3e-08 4e-06 5e-08 6e-08 Te-08

1e-06

o

mueS

cb-10Cs-07.mueS, X: 110600, Y- 1 of 1, Z: 1to 600, Time: 1.55

orie

cb-10Cs-07 orie, X: 110 600, Y: 1 of 1, Z: 1 t0o 600, Time: 1.55
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[5] cb-10Cs-07 mueS, Time: 3.45 (100/143) 0.006x1e-5x0.006 mm, 600x1x600 cells

2e-06 3e-06 48705 5e-06 Be-06 Te-06 Be-06 9e-06
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Linux — 3.4 s (nuclei start growing)

mueS

cb-10Cs-07 mueS, X: 110 600,Y: 1 0f 1, Z: 110 600, Time: 3.4s

orie

[6] cb-10Cs-07 orie, Time: 3.4s (100/143) 0.006x1e-5x0.006 mm, 600x1x600 cells
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cb-10Cs-07 orie, X: 110 600, Y: 1 of 1, Z: 110 600, Time: 3.4s
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